PUNJAB EXAMINATION COMMISSION
EXAMINATION 2019, GRADE 8 Model Paper

MATHEMATICS PART — A (Objective Type)

Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks
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General Instructions: 1y e gas

1)  Read carefully and attempt all questions. - S Ja ) g gl gl 5y i L8 (1

2) Encircle the correct option of each of Multiple Choice Questions ( MCQs)as shown in the
example given below.

f ot RS e Jha (8 (53 et S Lo (B 0513 g g a8 ) (SRS IS (2
Example: x8x x? = x8x x?=: Jba

a) x* b) x8 c) x8 @ x10
3) Use black/blue ink for writing. Use of lead pencil and calculator is not allowed.
= o Sl (S Jleniand S A oSS g) Jaudy (AS (S Jlaadad IS A, LY S I S et (3
4) If more than one options are encircled in a question, no mark will be given.
S L Gl el S S LE LR 0 i 0 8 Sl 0aly) i S e Jlgm (S ) (4
Total Marks: 48 Part-A(MCQs) Total Time: 1 hour 15 minutes
Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question
carries 1.5 marks. -ux sail5 - om =K o0 OVl g (AR LIS (32) il (pa mas (il 1 il

=S Jlgm

Questions <Y g Rough Work i
Jas

Q. No.1. In the given Venn diagram, the shaded region represents:
.dUﬁﬁmmJ\éﬁdeM\ C)-'.Ju-“gcsé

a)Au(BuC) U
b)AN(BNC) a‘b
¢)AU(BNC) 258
dAN(BUC) v

Q. No.2. Which one of the following is NOT a proper subset of {3,4,5}?

= o G (a3 Gl g 1S {345} Qb 068 i e AT 0

a) {3} b) {4} c) {34} d) {3.4,5}
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Q. No.3.  Which of the following numbers is a perfect square?
fopadesa e L (198 o e A2 (3 A i
a)9 b) 12 c) 14 d) 24
Q. No.4. Cube root of 729 is : qasall i €729
=
a)3 b) 9 c) 27 d) 81
32
Q. No.5. 149
1 2 2 2
a)149 b) 249 c)l7 d) 27
Q. No.6. If the area of a square shaped board is 64 m? then the length of its
one side will be: (S Al S i ) Sl 8 9 64 S
) 835 S IS e S
a)4m b) 8 m c)16m d)32m
Q.No.7. (564)s+ (431)s=
a) (1215)s b) (1251)s c) (2115)s d) (2511)s
Q. No.8. (33)5 - (11)2 =
a) 15 b) 19 c) 22 d) 24
Q. No0.9. (11),x(11), =
a) (1001), b) (1010).
c) (1100); d) (1111),
Q. No0.10. (10)s+ (10). =
a)7 b) 20 c) 60 d) 70
Q. No.11. Saima bought a toy for Rs. 1000 and sold for Rs. 900. Her loss
percentage is:
Ol ol S g sd (e 95 900 L) MuA e =39 1000 UisleS S S maibia
— ..\m..,\ﬁ Glall €
a) 10% b) 20% c) 30% d) 40%
Q. No0.12. The marked price of a book is Rs. 1500. If 20% discount on
purchase is allowed then its sale price will be:
S i g Cad S ) g s 52 S ga20%0 (As S S LS S
ReIuA Ko ) 1500
a) Rs. 750 = b) Rs. 1000 —s0
¢) Rs. 1200 =0 d) Rs. 1300 =50
Q. No.13. Rabia got some loan for one year on which she paid Rs. 4000 as
markup at the rate of 10% per year. The principal amount of loan
is: LS Gl Sl 3934000 = ol g AN 35 10% b 428 =5~y
o paf ol S dle S
by dal (8 Ja
a) Rs. 10000 —su b) Rs. 20000 =50
) Rs. 40000 —s0 d) Rs. 41000 =5
Q. No.14. How many US dollars are in Rs. 3300?
(1 US dollar = Rs.132)
(=290 132 =03 (Sapa) 1) S0 g M3 Sasm) 58 Gaa =195 3300
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a) 25 b) 52 c) 123 d) 132
Q. No.15. The polynomial x*+x2+1 is: XX+ S
‘uﬂgJ
a) linear> 2 <2 b) quadratics> 2 50
C) cubic > 2~ d) biquadratic > Ul
Q. No0.16. (4x3-6x + 6) + (—x>+3x-3) =
a) 3x3-3x+3 b) 3x® — 3x— 3
c)3x*+3x+3 d) 3x3+3x -3
Q.No0.17. (Y +14y+49)=(y+7)=
ayy+7 b) y—7 c) y—49 d)y+49
Q. No.18. Factorization of h?—5h+2h-10 is: .= 35 S h*—5h+2h-
10
a) (h-2)(h+5) b) (h—2)(h-5)
¢) (h+2)(h+5) d) (h+2)(h-5)
Q. N0.19. 4y*-12y+ 9=
a) (4y-9)>  b) (4y+9)*  c) (2y+3)* d)(2y-3)
Q. No.20. Factorization of 9a>~16b? is: G S
-—=9a%-16b’
a) (3a+4b) (3a+4b) b) (3a—4b) (3a—4b)
c)(3a—4b) (3a+4b) d) (3+4b) (3a+4)
Q. No.21. Factorization of — 2x2y + xy? + 3xy is: = $ 33 (S 2X%Y + XYP
+3xy
a) —xy(2x +y+ 3) b) xy(2x +y+3)
c) — xy(2x —y—3) d) xy(2x—y- 3)
Q. No.22. a’+4ab+4b?- ¢ =
a) (at2b—c) (a—2b+c) b) (a—2b—c) (a—2b—c)
¢) (a+2b—c) (at2b+c) d) (at+2b+c) (a+2b+c)
Q. No.23. x2+%=a2—b2
X2 + % =c’
By eliminating x from above equations, we get:
= s Jals i S Bl e 3 g5 gl (R (52 )
a) a>+h?=c? b) a®>—h?=c?
c) a*+b’=-¢? d) a>-b%=- ¢?
Q. No.24. The radius of the base of a cone is 6cm and slant height 10cm.
Its height is:
= il S O 210eme il (g 5 L) Bem S o eld S b jha S
)
a)6cm
&
b) 8 cm S ,
c) 10 cm
d) 16 cm -
Q. No.25. If the length and width of a rectangle arel12cm and 9cm
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respectively, then the length of its diagonal will be:
(K 5 el S g S o 5 s00m Us12em 55 U8 el S Jibiins S S

D i Al
a) 15cm b) 21 cm 9cm
c) 42 cm d) 108 cm A 12cm B

Q. No.26. In the given parallelogram, the measure of angle x is:
= M (SXaagl) o ERLAY) (5 )l gha K g2
a) 40°

b) 50° > R
¢) 130° s0°
d) 230° .

Q. No.27. In the given regular octagon, measure of angle x is: Q
= OMBa SX A9l e (ala PE:\AL’.‘\EGJ

a) 108°
b) 120°
c) 180°
d) 135°

Q. No0.28. The radius of a spherical tank is 9 metres, its volume is:
= a5 98 g ldy AD
a) 108mm® b)) 729tm®  ¢) 927am®  d) 972mm?
Q. No.29. The surface area of a sphere is 5544cm?, its radius is:
= I S il 55440 ABL S i S 2 S S
a) 21cm b) 22 cm c)42cm d) 98 cm
Q.No0.30. Sin60°=

2) \E b) — o V3 0 Y2
2 J3 2 3
Q. No.31. The marks obtained by 8 students in a Mathematics testare
30,25,21,30,13,25,21,25. The mode of the data is:
13 30 21 25 30 sai 028 Juala (e Gl S S oy Sk 8
e 03] 1S 3 ga . 25 21 25

a)13 b)21 )25 d)30
Q. No.32.
X 0 1 2 3 4
f 3 11 18 7 3
x 0 11 36 21 12
In the frequency table given above, z fx is:
o der g ad R S fx =
a) 10 b) 36 c) 42 d) 80
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